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OQUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following imstructions carefully before attempting guestions.

. There are EIGHT questions divided in Two Sections and printed both in HINDI and in ENGLISH.
Candidate has to attempt FIVE questions in all.

Quéstion no. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted choosing at
least ONE from each section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission certificate which must be stated clearly
on the cover of this Question-cum-Answer (QCA) booklet in the space provided. No marks will be given
for answers written in medium other than the authorized one.

Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in chronological order. Unless struck off, attempt of a question shall
be counted even if attempted partly. Any page or portion of the page left blank in the answer book must
be clearly struck off.
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EUS—3
SECTION—A

Q.1. Frfatem v fomeromens fewfirai frfeag, S ore 150 w5 ¥ s ¥ o9 8 .

Write analytical notes on the following in not more than 150 words each :— 10x5=5(

’W%ﬁuﬁwmﬁwﬁ%mjwaﬂ?aw@ﬁ%ﬁw%aﬁf
BT & w9 OH # oW g

“Management is defined as attainment of organisational goals in an effective and efficient manner
through its four functions’. - 10

WISACA® g3 B9sT & g0 Aded 1 S w3

Developing leaders through organisational structural design. 10

FIGHICHE IR 1 Hehooiens Hisel #A deX & YeH U4 I fwasmr o3
EIEIEG

The conceptual model of organisational behaviour is based on micro and applied analysis of
human behaviour. 10

TR FAIGA UF IcaEehdl AT Mg qE T

‘Employee morale and productivity are not mutually dependant’. 10
ST A el wd vl genwem & R @ o wwiiasw
Empowerment of people for efficient and effective functioning in Teams. 10

2. TR 300 Wt ¥ afw ¥ wd fvm whe

Each answer shall not exceed 300 words :— 50

. 2(2) ‘ﬁﬁwaﬁmaﬁ%mﬁﬁ@mﬁﬁw%uﬁ%wwﬁﬁ%ﬁ

g7 T |

‘High internal locus of control exhibits more political behaviour in an organisation.” Discuss.
20

RAG X Sl Y s @ PromRe 3 A wia @ sPeht B osRRRe w@
Bl TER 7w o Age W B WA W GHE ST @7 Swe gR[ P
T T AN |

Theory ‘X and Y” model reflects the attitude of a person in performing the task. How ? Does
this influence the selection of the leadership style ? Explain with examples. 7+8=15
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Q. 2c) W9 A¥FeT & g ffEmew @A’ (JCM) F1 a9uiA SiNg | 78 FRan aRen #
gy 3wl 8 e 8 7

Describe the ‘Job Characteristics Model’ (JCM) of Job design. How it can be useful in

Employee motivation 7 &+7=15
Q. 3.9% STX 300 wesl ¥ StUw ® WEI BT WIRe — ‘ 50

Each answer shall not exceed 300 words :—

Q. 3(a) YA TA TAUT W/ FheTT AT IS @Al UX @ @I |
Discuss the concept and advantages of Flexible Systems Management. 15

Q. 3(b) Tavaemrdipg spf-sEsen W, W@ R OFER FUED SR SEmQl Y9"T w1 owmEe
I FE B P T HINT

How technology enables an effective and efficient management in a Globalised Economy ?

Explain. 20

Q. 3(c) T HINQ fF T PR WU HUSEHG, YoUTeN ST FIOwE 1 TR Hed g |

Explain how motivation is a function of valence, expectancy and instrumentality. 15

Q4. TAF ITT 300 et ¥ AR W OAQl ¥AT =R —

- Each answer shall not exceed 300 words :— 50

Q. 4(a) ‘TEw faEmor AR Fw@iox fEmer & @9 [{Yes ik e ger offas e
TNGATcHS ga-eical &1 Ieqs Hmel B 7

Differentiate between ‘Lateral thinking” and ‘Vertical thinking’. How lateral thinking generates

organisational creativity ? 10+10=20
Q. 4b) wia To@ ¥ Fw diewd B 7 Hwed H ey wf-oNad ggad feE ge ghfeEd
g 7 |

What is Job Stress ? How do you assure work-life balance in an organisation ?  8+7=15
Q. 4(c) “faclio’ ¥ w1 awwd ¥ P ww o e ¥ ydue eqd aefEed iR wd frsamA
F YTEFR, 53 IR BA9T F w0 @ g7 u9Rg w3 A awd 8 ¢ e $ig |

What is ‘extinction” ? Do you think that Managers will be able to influence subordinates and

their performance by using reward, punishment and extinction ? Explain. F4+8=15
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SECTION—B

Q.5. fr=fafem wt fresmomers Rrofmd FR, ST 7w 150 west ¥ sfew ¥ ow B .
Write analytical notes on the following in not more than 150 words each :—  10x5=50

Q. 5(a) Toma arg s Fraer oy

Cost of Capital and Investment Decisions ' 10
Q.5(b) B opeufrs (RARa)_fmey o am

Financial Derivatives—Options and Futures 10
Q 5(c) Rz fuRy s gaeeemn

Management of Corporate distress and restructuring 10
Q. 5(d) IR #1 @R AR qem-feT

Segmenting and targeting the market : 10
Q. 5(e) TXT R . w2 siw g

Internet Marketing : Issues and Challenges. ‘ 10

Q. 6 T% I= 300 Wt W aftw ¥ owEr der wieg

Each answer shall not exceed 300 words :— 50

Q. 6(a) Feu-snaRT uysET @ Hefed, [er-are SR Tl udue gwhl w@ e I |

Explain the “Value drivers’ and “Key managerial processes’ relevant to value-based management.

20

Q. 6(b) Tt Taume ufax’ i ‘emygs ey aﬁmaaﬂﬁmagﬂ'gﬁ;rwﬁ?ﬁwﬁﬁﬂ
IHR wefig g 7

Explain the term ‘Margin of safety” and ‘Angle of incident’. How is jt related to break-even

analysis ? e | 8+7=15

Q 6(e) FRE P Aiodk o1 7w ot 3 7 wnive P Wt % s & R conen
ot ﬁﬂﬁ?ﬁaﬂmﬁeﬁﬁmaﬂﬁq:

What is meant by corporate financial models ? Critically analyse the conditions for the use of

corporate financial models. 7+8=15
Q.7.mmsﬁemﬁmﬁaﬁﬁmﬁq:_ _
Each answer shall not exceed 300 words :— 50

Q. 7(a) WWW@W%WMWWETHﬁWﬁW%WUWﬁ
m‘m%mﬁ%ﬂwﬁﬂmﬁmmﬂw%l '

Explain with examples, how ‘zero-based budgeting’ can be used as an effective instrument of
cost control. 20
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Q. 7(b)

Q. 7(c)

TS (IPO) & g a%m‘cﬂff il @1 Sern ‘e o & SEeT 8 | wEEEAgE
[CEEELCHIE

Raising long term funds through ‘IPO’ is better than ‘Venture Capital’. Critically analyse.
15

g W FaA qed § g sl B o7 gel fraw fofgl § s dwerm @ ow e

g ?

g g FTUYH R T 8

What is ‘present value’ of money ? Why and how this concept is applied in capital investment
decisions ? 15

Q.8. TUF IR 300 wesl ¥ Htw § FE BT =Ry —

Each answer shall not exceed 300 words :— 50
Q. 8(a) TUR a-TH FT QARFET ok $ wsw ¥ Ruvr-fiw iR owe @R

Q. 8(b)

Q. 8(c)
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Explain the marketing-mix-strategies in relation to various stages of Product Life Cycle. 15

IUYFT IETe XUl H EATCT &d §U, Wrheddrdl fauve’ @l wenewsn X wiefdar W=l
HIT |

Discuss the concept and significance of ‘Holistic marketing’, citing suitable examples. 15

ﬁmﬁmﬁwqmﬁr%%a@rﬁmw%%?waﬁmaﬁwﬁ
% IO 99U

How marketing of services differ from marketing of products ? Explain and illustrate. 20
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